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Candidates are required to give their answers

in their own words as far as practicable.

(ttogramming in llthon)

up -A

Answer arrylive questions :

1. What are the key features of python?

2. W}ry pyttron is called interpreted language?

3. Write the characteristics of an algorittrm.

4. What is the difference betrryeen list and tuples?

5. What do you mean by the term 'Debugging'?

6. Mention the various types of error occurred during
prcgram execution
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(7)
operations, and a display to show the result.

event handlers for button clicks and perf,orm

necessary calculations.

TIF
rerq - re

cq 6slm ,fiufr Errf* Ec* qte r 1x6:56

) I Declaring a Variable $6q'ftr

GUI environrnent fr'?

@rgtE c<fr-+-e l'If,..Then...Else" &BK Ecq$ fra
,q<sF EqR{q qN I

a t &Emn 6<Fn<Fr qreE qmfu (subroutine) .q?K qsF
Ttffrffi (tunction) Tc<r 4teF<FJ <il"[t ffi I

a I Efr fulr< eqlflE 6<fr6s{ @trefr (error handling)

"rREI-{qT TBrtrr?

vt BEr*n' 6{fo-$T qstr W"K Erq-g'fir qsfr

,.ror...Next" 
E['K Gqr{frq ql,€ 

r

ft'snn new object ffi qscET

cht q<i cDec Tlsttrr3r b'cq,$ frr

P.T.O.
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R rsl-FT urrF emr* EEfr qt'g I cx8:qo

b r colt qfrRFrs e+E q"t <r<Et{ Tst qc<e esB noZ
Loop qEi esB Forarlext 1t'Br q[(i ffs, <IFU.I trT I

(8)
futot - q

Q.+e

q$fr recursive function 1l{qkt +ff esF emg.q\,?U.K

factorial rt"l{t Grcs eErilE 6<frrs ,q+F cae[q 6fff r

eRHsrirs eF qRFr"Hr (error handting) uru(v orr
d

sctil <tr$K fum ffi{ iFr rg <"fqt +s I Trl-{ q(
RtqT{ sqtl qsfi q6qt T6e13 6gE6;1 

=14o 
+<I q*r

s+\

<irqBrsfft qiglfu'ftTI 
"16 Fibonacci series elq,,f{

Grcs CqrflE 6<frr$ q<sF (aTaH c6rt | <fs?rtirn:r
qEi qsF "Do...While,, Tot <J<.{K ffit d

esF m{ qq, .qsF rFrcT{s {c<i "ffcFo, 
q.F[^t qr{r

.q$E futsr$ qF fr'qai frvffi efr M $irf E{?

\+e

sffi -::.pq Ff ffi q;rm c+E rvqr*rcr c<fr-+ mrg
frrqt (snippet) 6qrt {I <r<rqkofftq r,Fr q<(
omsrrffi B"m ffi +cr s<qmo6ms anurfirq"r qr
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